N
1,600H (Ft5A) ez omaom
Bz —J
HSE IN—- R —(F)La—)L3EEEL) -I—F LV HIL T,

A

A E—ThL—

{rififE R

A L
YSHIR— B O —(FLa—LIBEEE) 3T LY 2ILMT, 2 100H (Beid) B#E i DIHETF 25000

EBEORROF—/ ‘Q

1,600H (Ft3X) ez omaom

EHDINAAEESF
A—THSEN—- RN —(FILa—IL3BEEST) -I—F LI ILMMT,

J
N
Va
.“iﬁéiﬁ
1,800H (Ft32) ezt omar52200m
PhohBRESL AR
CHR-BHET - SEN—-FY oo —(FILa— L3 EESE) - 3—F LY oI,
A
\
1 800 .(*RL)%%HO)%A?%MOOH
BANWEFE-SEAICEETEET !
BEXR-BEX-YI51— K)o 3—(FILa—IL3BESL) - I—F LV 2ILMMT,
/
EBI2EAAZ21—>
HEBROSECHIFEREY - +1,200M (Fid)
RFRT5A -+ 450 (FiA)
= - --300M (FiA)
ZIESEBIT- - -400M (FiiA)
A=A - -400M (FiA)
LDMTZEEBIT - - =500/ (Fi3A)

WA TOAZa— (=Y FF /N —

3= Yo )Lh

Ryvhi—(7 ba- ) 3EEST)
" J EBTER

1 800 ] (Fitid) a=H0BET52200M
BALKRUEFTE2([EYE

C8 BRI - SE A — RO —(FIILa—ILEEE L) -I—F L 2ILMT,

=

»

FOEE fil fi
1,900 (32

Mz ke

A) BE4D0BAT5R300M

=S L2 LT,

B R S5INE- TR BRI - SN — R —(FLa—L3BEST) -

Q

W

IEAYH IR

1,900 (#52) a5t 0ma752300m

Q

IEAYES
B A—F - HSEN—FY 23— (FILa—L3EFEEE) - 3—T )L 2L,
e
= N
P e ==
ME=THEO—ANDEER
2,000H (%1:32) =+ 054752400/
PhohWBSANETEY1——
iR - B S S55 /38— FYL 98— (FILa—L3BEEE) -I—S LY HILMT,
J
\
e — == o] L -
A= TTBER—0)T—
2,100H (H1:2) e =1 oBaT52500M
PhomhnIa—R
CfR-A—T - SEN—-F) o —(FILa—LIEEEST) -I—F L2 LT,
_/

KESEMA=a—>

-S=% [&---300M (Hiid)

sS=5E A +300M (FiA)
-S—HL—---300[ (i)
KEGEMA= 1 —DADEXIETEEE A




